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8 7 6 5 4 3 2 1 Q 
176 168 156 140 120 96 68 36 Utx 
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    :Um2=(68-36)/(2-1)=32  
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1-2 - : 

 Le Consommateur Rationnel 

  

 .

 .       :   

                         

Revenu(R) 

  

.  

:  

X Y  :  

8 7 6 5 4 3 2 1 Q 

176 168 156 140 120 96 68 36 Utx 

153 150 144 135 120 99 72 39 Uty 
  

x=4  Px  Y  Py=3       

R=46      :.  

:  
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8 7 6 5 4 3 2 1 Q 

176 168 156 140 120 96 68 36 Utx 

153 150 144 135 120 99 72 39 Uty 

8 12 16 20 24 28 32 36 Umx 

3 6 9 15 21 27 33 39 Umy 

2 3 4 5 6 7 8 9 Umx/Px 

1 2 3 5 7 9 11 13 Umy/Py 
  

:  

 

  

8*4+7*3=55>R                          ,Y=7X=8     2=   

        

7*4+6*3=46=R                          ,Y=6X=7    3=   

        

5*4+5*3=35<R                           ,Y=5X=5    5=   

        

4*4+3*3=25<R                            ,Y=3X=4   7=   
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3*4+1*3=15<R                            ,Y=1X=3   9=   

        

  7   X 6 Y.  

 

1-3 -  
1-3 -1-  : 

R  X Y   Px X   

Py Y  : =  

  :R=XPx+YPy   

  Y=f(X) 

                                         Y=  -     X  

  -   

 :  

  

  

  



1                        .                                   

7 
 

  

1-3 -2-  

R X Y   Px X   

Py Y :  

U=f(X Y) 

Y  :  

U=f(X  -     X     ) 

X    

  

 :

U’’<0  
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Y 
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R/Px 



1                        .                                   

8 
 

:  

     :U=XY  

  R=100  X Px=5  Y   Py=2 

 :  

  

  R=XPx+YPy                                          

100=5X+2Y                                          

 

:  

 

 

X*=10                                             

Y*=25                                           

10    X  25 

Y 

          :  
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     )           (                         U=250  

 .

.  

1-3 -3-                      

   Le Multiplicateur de Lagrange      

  

:  

                      f(X, Y) MAX U= 

                      S/C    R=XPx+YPy            

    

: 

L= f(X Y)  + (R- XPx-YPy) 

   

 

:  

 :
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                                       L’x=f’x -  Px=0 

                                           L’y=f’y -   Py=0                                                                                                                                

                                           L’ = R- XPx-YPy=0                                                                                                                         

 .

  :  

  

f’x=Umx       f’y=Umy    : 

                                                           =          

    

 : 

  

 

  

U=XY   

:  

L=XY+ (R- XPx-YPy) 
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                                       L’x=Y -  Px=0 ……….(1) 

                                           L’y=X -   Py=0 ……..(2)                                                                                                                          

                                           L’ = R- XPx-YPy=0 ……(3)                                                                                                                  

)1 ()2 (:  
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  Y  

  :  

X*=10                                     Y*=25 
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